# SKEW-SYMMETRIC SOLVENT FOR SOLVING A POLYNOMIAL EIGENVALUE PROBLEM 

Yin-Huan Han* and Hyun-Min Kim**

AbSTRACT. In this paper a nonlinear matrix equation is considered which has the form

$$
P(X)=A_{0} X^{m}+A_{1} X^{m-1}+\cdots+A_{m-1} X+A_{m}=0
$$

where X is an $n \times n$ unknown real matrix and $A_{m}, A_{m-1}, \ldots, A_{0}$ are $n \times n$ matrices with real elements. Newtons method is applied to find the skew-symmetric solvent of the matrix polynomial $P(X)$. We also suggest an algorithm which converges the skew-symmetric solvent even if the Fréchet derivative of $P(X)$ is singular.

## 1. Introduction

For solving an $m$-th order ordinary differential equation which has a form

$$
A_{0} \frac{d^{m}}{d t^{m}} x(t)+A_{1} \frac{d^{m-1}}{d t^{m-1}} x(t)+\cdots+A_{m-1} \frac{d}{d t} x(t)+A_{m} x(t)=0
$$

where $A_{m}, A_{m-1}, \ldots, A_{0}$ are $n \times n$ real matrices, we need to consider the polynomial eigenvalue problem

$$
\begin{equation*}
P(\lambda) v=\left(\lambda^{m} A_{0}+\lambda^{m-1} A_{1}+\cdots+\lambda A_{m-1}+A_{m}\right) v=0 \tag{1.1}
\end{equation*}
$$

For solving the problem (1.1) we may consider the matrix equation

$$
\begin{equation*}
P(X)=A_{0} X^{m}+A_{1} X^{m-1}+\cdots+A_{m-1} X+A_{m}=0 \tag{1.2}
\end{equation*}
$$

If $m=2$ the matrix equation (1.1) can be rewritten by

$$
\begin{equation*}
Q(\lambda) v=\left(\lambda^{2} A_{0}+\lambda A_{1}+A_{2}\right) v=0 \tag{1.3}
\end{equation*}
$$

[^0]

Figure 1. An $n$ degree of freedom damped mass-spring system. [9]
which arise from a freedom damped mass-spring system [2]. Figure 1 shows a connected damped mass-spring system. The $i$-th mass of weight $m_{i}$ is connected to the ( $i+1$ )-th mass by a spring with constant $k_{i}$ and damper with constant $d_{i}$, and ground by a spring with constant $\kappa_{i}$ and damper constant $\tau_{i}$.

Mehrmann and Watkins [6] showed that When $A_{0}=A_{0}^{T}, A_{1}=-A_{1}^{T}$, $A_{2}=A_{2}^{T}$ in the quadratic eigenvalue problem (1.3), it has a Hamiltonian eigenstructure. An application of finding skew-symmetric solvent of matrix polynomial comes from the polynomial eigenvalue problem (1.1), since any skew-symmetric matrix has a pair of purely imaginary eigenvalues [4], [7]. In this paper we suggest an algorithm for solving skew-symmetric solvent of matrix polynomial.

## 2. Newton's methods for nonlinear matrix equation

From the Fréchet derivative in Newton's method of the matrix polynomial (1.2), it is necessary to find the solution $H \in \mathbb{C}^{n \times n}$ of the equation

$$
\begin{equation*}
P_{X}(H)=\sum_{i=1}^{m}\left[\left(\sum_{\mu=0}^{m-i} A_{\mu} X^{m-(\mu+i)}\right) H X^{i-1}\right]=-P(X) . \tag{2.1}
\end{equation*}
$$

Remark 2.1. Recall that $P_{X}$ is regular if and only if

$$
\inf _{\|H\|=1}\left\|P_{X}(H)\right\|>0
$$

Kratz and Stickel [5] used the Schur algorithm to solve (2.1). For a given $X \in \mathbb{C}^{n \times n}$, compute the Schur decomposition of $X$

$$
\begin{equation*}
Q^{*} X Q=U \tag{2.2}
\end{equation*}
$$

where $Q$ is unitary and $U$ is upper triangular. Then, substituting (2.2) into (2.1), the system is transformed to

$$
\begin{equation*}
\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X^{m-(\mu+i)}\right) H^{\prime} U^{i-1}=F \tag{2.3}
\end{equation*}
$$

where $H^{\prime}=H Q$ and $F=-P(X) Q$. Taking the vec operator both sides of (2.3) makes a linear system such that

$$
\begin{equation*}
\widetilde{F} \operatorname{vec}\left(H^{\prime}\right)=\operatorname{vec}(F) \tag{2.4}
\end{equation*}
$$

where the matrix $\widetilde{F} \in \mathbb{C}^{n \times n}$ is

$$
\begin{equation*}
\widetilde{F}=\sum_{i=1}^{m}\left[\left(U^{i-1}\right)^{T} \otimes\left(\sum_{\mu=0}^{m-i} A_{\mu} X^{m-(\mu+i)}\right)\right] \tag{2.5}
\end{equation*}
$$

Seo and Kim [8] defined $\widetilde{F_{i j}}=\sum_{i=1}^{m}\left[U^{i-1}\right]_{j i}\left(\sum_{\mu=1}^{m-i} A_{\mu} X^{m-(\mu+i)}\right)$ to reduce the system size of the equation (2.4) to $n \times n$, then $\widetilde{F}$ in (2.5) is represented by

$$
\widetilde{F}=\left[\begin{array}{cccc}
\widetilde{F_{11}} & & & 0  \tag{2.6}\\
\widetilde{F_{21}} & \widetilde{F_{22}} & & 0 \\
\vdots & \vdots & \ddots & \\
\widetilde{F_{n 1}} & \widetilde{F_{n 2}} & \cdots & \widetilde{F_{n n}}
\end{array}\right]
$$

If we suppose that the matrices $\widetilde{F_{i i}}$ are nonsingular, then using the block forward substitution, the equation (2.4) can be changed to $n$ linear systems with size $n \times n$ such that

$$
\begin{aligned}
& h_{1}^{\prime}={\widetilde{F_{11}}}^{-1} f_{1} \\
& h_{2}^{\prime}=\widetilde{F}_{22}-1 \\
& \vdots \\
& \vdots \\
& h_{n}^{\prime}={\widetilde{F_{n n}}}^{-1}\left(f_{n}-\widetilde{F_{n 1}} h_{1}^{\prime}-\cdots-\widetilde{F_{n, n-1}} h_{n-1}^{\prime}\right),
\end{aligned}
$$

where $h_{i}^{\prime}$ and $f_{i}$ are the $i$ th columns of $H^{\prime}$ and $F$, respectively.

## 3. Skew-symmetric solvents of the matrix polynomial $P(X)$

Here, we consider an algorithm to compute skew-symmetric solutions of the $q$-th Newton iteration (2.1).

Algorithm 3.1.

1. Input $n \times n$ real matrices $A_{0}, A_{1}, \cdots, A_{m}$ and skew-symmetric ma$\operatorname{trix} X_{q} \in \mathbb{R}^{n \times n}$.
2. Choose a skew-symmetric starting matrix $H_{q_{0}} \in \mathbb{R}^{n \times n}$.
3. $k=0 ; \quad \quad R_{0}=-P\left(X_{q}\right)-\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} H_{q_{0}} X_{q}^{i-1}\right)$
$Z_{0}=\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{0}\left(X_{q}^{i-1}\right)^{T}$
$P_{0}=\frac{1}{2}\left(Z_{0}-Z_{0}^{T}\right)$
4. while $R_{k} \neq 0$

$$
\begin{aligned}
& H_{q_{k+1}}=H_{q_{k}}+\frac{\left\|R_{k}\right\|^{2}}{\left\|P_{k}\right\|^{2}} P_{k} \\
& R_{k+1}=-P\left(X_{q}\right)-\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} H_{q_{k+1}} X_{q}^{i-1}\right) \\
& Z_{k+1}=\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{k+1}\left(X_{q}^{i-1}\right)^{T} \\
& P_{k+1}=\frac{1}{2}\left(Z_{k+1}-Z_{k+1}^{T}\right)+\frac{\operatorname{tr}\left(Z_{k+1} P_{k}\right)}{\left\|P_{k}\right\|^{2}} P_{k} .
\end{aligned}
$$

end
Remark 3.2. The matrices $P_{k}$ and $H_{q_{k}}$ are skew-symmetric in Algorithm 3.1.

By Algorithm 3.1, we can obtain some properties which are useful for the proof of our convergence theory.

Lemma 3.3. Let $H_{q}$ be a skew-symmetric solution of the $q$-th Newton iteration (2.1), then

$$
\begin{equation*}
\operatorname{tr}\left[P_{k}^{T}\left(H_{q}-H_{q_{k}}\right)\right]=\left\|R_{k}\right\|^{2}, \quad \text { for } \quad k=0,1, \cdots . \tag{3.1}
\end{equation*}
$$

Proof. When $k=0$, we obtain

$$
\begin{aligned}
& \operatorname{tr}\left[P_{0}^{T}\left(H_{q}-H_{q_{0}}\right)\right] \\
& =\operatorname{tr}\left[\frac{1}{2}\left(Z_{0}-Z_{0}^{T}\right)^{T}\left(H_{q}-H_{q_{0}}\right)\right] \\
& =\operatorname{tr}\left[Z_{0}^{T}\left(H_{q}-H_{q_{0}}\right)\right] \\
& =\operatorname{tr}\left\{\left[\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{0}\left(X_{q}^{i-1}\right)^{T}\right]^{T}\left(H_{q}-H_{q_{0}}\right)\right\} \\
& =\operatorname{tr}\left\{R_{0}^{T}\left[\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\left(H_{q}-H_{q_{0}}\right) X_{q}^{i-1}\right]\right\} \\
& =\operatorname{tr}\left\{R_{0}^{T}\left[-P\left(X_{q}\right)-\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} H_{q_{0}} X_{q}^{i-1}\right)\right]\right\} \\
& =\left\|R_{0}\right\|^{2},
\end{aligned}
$$

by Algorithm 3.1.
We assume that (3.1) holds for $k=l$, then

$$
\begin{aligned}
& \operatorname{tr}\left[P_{l+1}^{T}\left(H_{q}-H_{q_{l+1}}\right)\right] \\
& =\operatorname{tr}\left\{\left[\frac{1}{2}\left(Z_{l+1}-Z_{l+1}^{T}\right)+\frac{\operatorname{tr}\left(Z_{l+1} P_{l}\right)}{\left\|P_{l}\right\|^{2}} P_{l}\right]^{T}\left(H_{q}-H_{q_{l+1}}\right)\right\} \\
& =\operatorname{tr}\left[Z_{l+1}^{T}\left(H_{q}-H_{q_{l+1}}\right)\right]+\frac{\operatorname{tr}\left(Z_{l+1} P_{l}\right)}{\left\|P_{l}\right\|^{2}} \operatorname{tr}\left[P_{l}^{T}\left(H_{q}-H_{q_{l+1}}\right)\right] \\
& =\operatorname{tr}\left\{\left[\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{l+1}\left(X_{q}^{i-1}\right)^{T}\right]^{T}\left(H_{q}-H_{q_{l+1}}\right)\right\} \\
& =\operatorname{tr}\left\{R_{l+1}^{T}\left[\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\left(H_{q}-H_{q_{l+1}}\right) X_{q}^{i-1}\right]\right\} \\
& =\operatorname{tr}\left\{R_{l+1}^{T}\left[-P\left(X_{q}\right)-\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} H_{q_{l+1}} X_{q}^{i-1}\right)\right]\right\} \\
& =\operatorname{tr}\left(R_{l+1}^{T} R_{l+1}\right)=\left\|R_{l+1}\right\|^{2},
\end{aligned}
$$

from Algorithm 3.1 and from the following result

$$
\begin{aligned}
\operatorname{tr}\left[P_{l}^{T}\left(H_{q}-H_{q_{l+1}}\right)\right] & =\operatorname{tr}\left[P_{l}^{T}\left(H_{q}-H_{q_{l}}-\frac{\left\|R_{l}\right\|^{2}}{\left\|P_{l}\right\|^{2}} P_{l}\right)\right] \\
& =\operatorname{tr}\left[P_{l}^{T}\left(H_{q}-H_{q_{l}}\right)\right]-\frac{\left\|R_{l}\right\|^{2}}{\left\|P_{l}\right\|^{2}} \operatorname{tr}\left(P_{l}^{T} P_{l}\right) \\
& =\left\|R_{l}\right\|^{2}-\left\|R_{l}\right\|^{2} \\
& =0 .
\end{aligned}
$$

Lemma 3.4. Suppose that the $q$-th Newton iteration (2.1) is consistent and there exists a integer number $l$ such that $R_{k} \neq 0$ for all $k=0,1, \cdots, l$. Then by Lemma $3.3 P_{k} \neq 0$ and we have
(3.2) $\operatorname{tr}\left(R_{k}^{T} R_{j}\right)=0$ and $\operatorname{tr}\left(P_{k}^{T} P_{j}\right)=0 \quad$ for $k>j=0,1, \cdots, l, l \geq 1$.

Proof. We prove the conclusion (3.2) using the principle induction.
i) We firstly prove $\operatorname{tr}\left(R_{k}^{T} R_{k-1}\right)=0$ and $\operatorname{tr}\left(P_{k}^{T} P_{k-1}\right)=0$ for $k=$ $0,1, \cdots, l$. When $l=1$, from Algorithm 3.1

$$
\begin{aligned}
& \operatorname{tr}\left(R_{1}^{T} R_{0}\right) \\
= & \operatorname{tr}\left\{\left[R_{0}-\frac{\left\|R_{0}\right\|^{2}}{\left\|P_{0}\right\|^{2}}\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} P_{0} X_{q}^{i-1}\right)\right]^{T} R_{0}\right\} \\
= & \operatorname{tr}\left(R_{0}^{T} R_{0}\right)-\frac{\left\|R_{0}\right\|^{2}}{\left\|P_{0}\right\|^{2}} \operatorname{tr}\left[\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} P_{0} X_{q}^{i-1}\right)^{T} R_{0}\right] \\
= & \left\|R_{0}\right\|^{2} \\
& -\frac{\left\|R_{0}\right\|^{2}}{\left\|P_{0}\right\|^{2}} \operatorname{tr}\left\{P_{0}^{T}\left[\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{0}\left(X_{q}^{i-1}\right)^{T}\right]\right\} \\
= & \left\|R_{0}\right\|^{2}-\frac{\left\|R_{0}\right\|^{2}}{\left\|P_{0}\right\|^{2}} \operatorname{tr}\left(P_{0}^{T} Z_{0}\right) \\
= & \left\|R_{0}\right\|^{2}-\frac{\left\|R_{0}\right\|^{2}}{\left\|P_{0}\right\|^{2}} \operatorname{tr}\left[P_{0}^{T} \frac{1}{2}\left(Z_{0}-Z_{0}^{T}\right)\right] \\
= & \left\|R_{0}\right\|^{2}-\frac{\left\|R_{0}\right\|^{2}}{\left\|P_{0}\right\|^{2}} \operatorname{tr}\left(P_{0}^{T} P_{0}\right) \\
= & 0
\end{aligned}
$$

and

$$
\begin{aligned}
\operatorname{tr}\left(P_{1}^{T} P_{0}\right) & =\operatorname{tr}\left\{\left[\frac{1}{2}\left(Z_{1}-Z_{1}^{T}\right)+\frac{\operatorname{tr}\left(Z_{1} P_{0}\right)}{\left\|P_{0}\right\|^{2}} P_{0}\right]^{T} P_{0}\right\} \\
& =\operatorname{tr}\left(Z_{1}^{T} P_{0}\right)+\frac{\operatorname{tr}\left(Z_{1} P_{0}\right)}{\left\|P_{0}\right\|^{2}} \operatorname{tr}\left(P_{0}^{T} P_{0}\right) \\
& =\operatorname{tr}\left(P_{0}^{T} Z_{1}\right)+\operatorname{tr}\left(Z_{1} P_{0}\right) \\
& =-\operatorname{tr}\left(Z_{1} P_{0}\right)+\operatorname{tr}\left(Z_{1} P_{0}\right) \\
& =0
\end{aligned}
$$

If we assume that $\operatorname{tr}\left(R_{s}^{T} R_{s-1}\right)=0$ and $\operatorname{tr}\left(P_{s}^{T} P_{s-1}\right)=0$ hold for $l=s$, then we obtain

$$
\begin{aligned}
& \operatorname{tr}\left(R_{s+1}^{T} R_{s}\right) \\
& =\operatorname{tr}\left\{\left[R_{s}-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}}\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} P_{s} X_{q}^{i-1}\right)\right]^{T} R_{s}\right\} \\
& =\operatorname{tr}\left(R_{s}^{T} R_{s}\right)-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left[\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} P_{s} X_{q}^{i-1}\right)^{T} R_{s}\right] \\
& =\left\|R_{s}\right\|^{2} \\
& -\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left\{P_{s}^{T}\left[\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{s}\left(X_{q}^{i-1}\right)^{T}\right]\right\} \\
& =\left\|R_{s}\right\|^{2}-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left(P_{s}^{T} Z_{s}\right) \\
& =\left\|R_{s}\right\|^{2}-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left[P_{s}^{T} \frac{1}{2}\left(Z_{s}-Z_{s}^{T}\right)\right] \\
& =\left\|R_{s}\right\|^{2}-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left[P_{s}^{T}\left(P_{s}-\frac{\operatorname{tr}\left(Z_{s} P_{s-1}\right)}{\left\|P_{s-1}\right\|^{2}} P_{s-1}\right)\right] \\
& =\left\|R_{s}\right\|^{2}-\left\|R_{s}\right\|^{2}+\frac{\left\|R_{s}\right\|^{2} \operatorname{tr}\left(Z_{s} P_{s-1}\right.}{\left\|P_{s}\right\|^{2}\left\|P_{s-1}\right\|^{2}} \operatorname{tr}\left(P_{s}^{T} P_{s-1}\right) \\
& =0
\end{aligned}
$$

and

$$
\begin{aligned}
& \operatorname{tr}\left(P_{s+1}^{T} P_{s}\right) \\
& =\operatorname{tr}\left\{\left[\frac{1}{2}\left(Z_{s+1}-Z_{s+1}^{T}\right)+\frac{\operatorname{tr}\left(Z_{s+1} P_{s}\right)}{\left\|P_{s}\right\|^{2}} P_{s}\right]^{T} P_{s}\right\} \\
& =\operatorname{tr}\left(Z_{s+1}^{T} P_{s}\right)+\frac{\operatorname{tr}\left(Z_{s+1} P_{s}\right)}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left(P_{s}^{T} P_{s}\right) \\
& =\operatorname{tr}\left(P_{s}^{T} Z_{s+1}\right)+\operatorname{tr}\left(Z_{s+1} P_{s}\right) \\
& =-\operatorname{tr}\left(Z_{s+1} P_{s}\right)+\operatorname{tr}\left(Z_{s+1} P_{s}\right) \\
& =0 .
\end{aligned}
$$

ii) Suppose that $\operatorname{tr}\left(R_{s}^{T} R_{j}\right)=0$ and $\operatorname{tr}\left(P_{s}^{T} P_{j}\right)=0$ hold for all $j=$ $0,1, \cdots, s-1$. Then, from Algorithm 3.1 and i) we get

$$
\begin{aligned}
& \operatorname{tr}\left(R_{s+1}^{T} R_{j}\right) \\
& =\operatorname{tr}\left\{\left[R_{s}-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}}\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} P_{s} X_{q}^{i-1}\right)\right]^{T} R_{j}\right\} \\
& =\operatorname{tr}\left(R_{s}^{T} R_{j}\right)-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left[\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} P_{s} X_{q}^{i-1}\right)^{T} R_{j}\right] \\
& =-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left\{P_{s}^{T}\left[\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{j}\left(X_{q}^{i-1}\right)^{T}\right]\right\} \\
& =-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left(P_{s}^{T} Z_{j}\right) \\
& =-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left[P_{s}^{T} \frac{1}{2}\left(Z_{j}-Z_{j}^{T}\right)\right] \\
& =-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left[P_{s}^{T}\left(P_{j}-\frac{\operatorname{tr}\left(Z_{j} P_{j-1}\right)}{\left\|P_{j-1}\right\|^{2}} P_{j-1}\right)\right] \\
& =-\frac{\left\|R_{s}\right\|^{2}}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left(P_{s}^{T} P_{j}\right)+\frac{\left\|R_{s}\right\|^{2} \operatorname{tr}\left(Z_{j} P_{j-1}\right)}{\left\|P_{s}\right\|^{2}\left\|P_{j-1}\right\|^{2}} \operatorname{tr}\left(P_{s}^{T} P_{j-1}\right) \\
& =0,
\end{aligned}
$$

and

$$
\begin{aligned}
& \operatorname{tr}\left(P_{s+1}^{T} P_{j}\right) \\
& =\operatorname{tr}\left\{\left[\frac{1}{2}\left(Z_{s+1}-Z_{s+1}^{T}\right)+\frac{\operatorname{tr}\left(Z_{s+1} P_{s}\right)}{\left\|P_{s}\right\|^{2}} P_{s}\right]^{T} P_{j}\right\} \\
& =\operatorname{tr}\left(Z_{s+1}^{T} P_{j}\right)+\frac{\operatorname{tr}\left(Z_{s+1} P_{s}\right)}{\left\|P_{s}\right\|^{2}} \operatorname{tr}\left(P_{s}^{T} P_{j}\right) \\
& =\operatorname{tr}\left\{\left[\sum_{i=1}^{m}\left(\sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)}\right)^{T} R_{s+1}\left(X_{q}^{i-1}\right)^{T}\right]^{T} P_{j}\right\} \\
& =\operatorname{tr}\left[R_{s+1}^{T}\left(\sum_{i=1}^{m} \sum_{\mu=0}^{m-i} A_{\mu} X_{q}^{m-(\mu+i)} P_{j} X_{q}^{i-1}\right)\right] \\
& =\operatorname{tr}\left[R_{s+1}^{T} \frac{\left\|P_{j}\right\|^{2}}{\left\|R_{j}\right\|^{2}}\left(R_{j}-R_{j+1}\right)\right] \\
& =\frac{\left\|P_{j}\right\|^{2}}{\left\|R_{j}\right\|^{2}} \operatorname{tr}\left(R_{s+1}^{T} R_{j}\right)-\frac{\left\|P_{j}\right\|^{2}}{\left\|R_{j}\right\|^{2}} \operatorname{tr}\left(R_{s+1}^{T} R_{j+1}\right) \\
& =0
\end{aligned}
$$

for all $j=0,1, \cdots, s-1$. Hence, we complete the proof by i) and ii).
From Lemma 3.4 we know that, if there is a positive number $l$ such that $R_{k} \neq 0$ for all $k=0,1, \cdots, l$, then, the matrices $R_{k}$ and $R_{j}$ are orthogonal for $k \neq j$.

Theorem 3.5. Let the $q$-th Newton iteration (2.1) has a skew-symmetric solution $H_{q}$. Then for a given skew-symmetric starting matrix, the solution $H_{q}$ can be found, at most, in $n^{2}$ steps.

This theorem can be proved by the similar way of Theorem 3.3 in [1].
Proof. From Lemma 3.4, the set $\left\{R_{0}, R_{1}, \cdots, R_{n^{2}-1}\right\}$ is an orthogonal basis of $\mathbb{R}^{n \times n}$. Since the $q$-th Newton iteration (2.1) has a skewsymmetric solution, and using Lemma 3.3, $P_{k} \neq 0$ for $k$. By Algorithm 3.1 and Lemma 3.4 we obtain $H_{q_{n^{2}}}$ and $R_{n^{2}}$, and $\operatorname{tr}\left(R_{n^{2}}^{T} R_{k}\right)=0$ for $k=0,1, \cdots, n^{2}-1$. However, $\operatorname{tr}\left(R_{n^{2}}^{T} R_{k}\right)=0$ holds only when $R_{n^{2}}=0$, which implies that $H_{q_{n} 2}$ is a solution of the $q$-th Newton iteration. Thus $H_{q_{n^{2}}}$ is a skew-symmetric matrix.

From Newton's method and the above theorem, we have the following result.

Theorem 3.6. Suppose that the matrix polynomial has a skewsymmetric solvent and each Newton iteration is consistent for a skewsymmetric starting matrix $X_{0}$. The sequence $\left\{X_{k}\right\}$ is generated by Newton's method with $X_{0}$ such that

$$
\lim _{k \rightarrow \infty} X_{k}=S,
$$

and the matrix $S$ satisfies $P(S)=0$, then $S$ is a skew-symmetric solvent.
The proof of the theorem is also similar to Theorem 3.4 in [1].
Proof. If $H_{k}$ is skew-symmetric solution of $k$ th Newton iteration then $(k+1)$ th approximation matrix is

$$
X_{k+1}=X_{0}+H_{0}+\cdots+H_{k} .
$$

By the properties of skew-symmetric matrix $X_{k+1}$ is also skew-symmetric. Since, the Newton sequence $\left\{X_{k}\right\}$ converges to a solvent $S$, it is a skewsymmetric solvent.

In this paper, we consider an iterative method for finding a skewsymmetric solution of matrix equation in (2.1). Then we incorporated the iterative method into Newtons method to compute the skew-symmetric solvent of matrix polynomial $P(X)$ in (1.2).

## Acknowledgements

This work is based on the first author's Ph. D. thesis.

## References

[1] Y. Han and H. Kim, Finding the skew-symmetric solvent to a quadratic matrix euqation, To appear in East Asian Math. Jour.
[2] N. J. Higham and H. Kim, Numerical Analysis of a Quadratic Matrix Equation, IMA J. Numer. Anal. 20 (2000), 499-519.
[3] N. J. Higham and H. Kim, Solving a quadratic matrix equation by Newtons method with exact line searches, SIAM J. Matrix Anal. Appl. 23 (2001), 303316.
[4] N. J. Higham and H. Kim, Numerical Analysis of a Quadratic Matrix Equation, IMA J. Numer. Anal. 20 (2000), 499-519.
[5] W. Kratz and E. Stickel, Numerical solution of matrix polynomial equations by Newton's method, IMA J. Numer. Anal. 7 (1987), 355-369.
[6] V. Mehrmann and D. Watkins, Sturcture-preserving methods for computing eigenpairs of large sparse skew-Hamiltonian/Hamiltonian pencils, SIAM J. Sci. Statist. Comput. 22 (2001), 1905-1925.
[7] M. H. C. Paardekooper, An eigenvalue algorithm for skew-symmetric matrices, Numer. Math. 17 (1971), 189-202.
[8] J. Seo and H. Kim, Solving matrix polynomials by Newton's method with exact line searches, J. KSIAM 12 (2008), 55-68.
[9] F. Tisseur and K. Meerbergen, The quadratic eigenvalue problem, SIMA Rev. 43 (2001), 235-286.

School of Mathematics and Physics
Qingdao University of Science and Technology
Qingdao, P. R. China
E-mail: hanyinhuan@hotmail.com
**
Department of Mathematics
Pusan National University
Busan 609-735, Republic of Korea
E-mail: hyunmin@pnu.edu


[^0]:    Received October 11, 2013; Accepted April 04, 2013.
    2010 Mathematics Subject Classification: Primary 65F30, 65H10.
    Key words and phrases: matrix polynomial, polynomial eigenvalue problem, solvent, Newton's method, symmetric, skew symmetric.
    *This research was supported by scientific research foundation of Qingdao University of Science and Technology.

